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Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

gug ‘I’
Section ‘A’
freTfera sifiaery SR g9 @ SR T A1 G
430
Answer the following very short answer type
questions in one or two sentences. 1x10=10

1. fgdiorer 9HRl T 39 =1 THAd © 2

What do you mean by secondary data ?

P.T.O.

10.

Code No. : BB-237
HROTE o R 39T 2

What are the objects of tabulation ?

. 399 H1eg &1 o fawieand €2

What are the characteristics of an ideal aveage ?
fowmar < fafy= =gl =1 ww=ET

Explain the various measures of Skewness.
e fawy ¥ 39 1 HEed § 7

What do you mean by probable errors ?
T Y@ &1 Rl e § 2

Why are there two regression lines ?

HIA A0 fIveoor sl YAl Sarsy |

State the utility of time series analysis.

QTR AT YA i YAl HHART |

Explain the utility of Index number
eI qaigae &1 e SdrEe |
Point out the limitations of Business forecasting.

wifsrehdl oF fOgT<l 1 auia ity |

Explain the principles of probability.
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Section ‘B’

freTifera &g SWIg g9 @ IW 150-200 155 1T
731
Answer the following short answer type questions

with word limit 150-200. S5x5=25

. Tifeent st aftyrsn ST 23R sHeht ehfa @t faeem
SIS |

Define Statistics and discuss in brief its nature.

AAAT
Or

aArgfa forawor fordl wed 2 srafa faao & yan
AR |

What do you mean by frequency distribution ?

Describe kinds of frequency distribution.

. Igah 9 AT T HHA © 2 TFok U i foer=
SIS |

What do you mean by mode ? Discuss its mertis.

[ 3] P.T. O.
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HAAAT
Or

100 S=di ! i9d 3T 9.35 6 off | 3T/ § 25 ol
3iga 3Ty 8.75 a8 off qem TW 65 &I 3 10.51
au off | 9 dedl bl AGd A TN hIoT |

The mean age of 100 children was 9.35 years. The
mean age of 25 of them was 8.75 years and that of
another 65 as 10.51 years. Find the mean age of the

remaining children.

. y99 fayw 3@ *ifse, I » =+ 0.72 T N = 40

S|
Find the Standard Error, if » = + 0.72 and N = 40
3T
Or

YA 3 frd Thed €2 39 fRg YR |91 S
7?7

What is Regression Line ? How it can be measured ?

. I ST fohd Ed § 2 39k hH-M 4 Y@ Hh

g7

What is time series? What are its main components ?
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TR o1 sTewl facemes &= g7 39 SARY Hi wal
ST 2

What is Fisher’s Ideal Indexd ? Why is it called ideal ?
. AEdas qargaH % fau ygea wiferesa dfa
1 U FHU |

Describe the statistical methods used in business
forecasting.

3AYAT
Or

YIehdl sl TR SHITSIT q91 39 HRUN A1 HIREAHh!
T Hecd sy |

Define probability and explain the importance of this
concept in statistics.

gue ‘g’
Section ‘C’

freTferd g1 3T 991 @ 3 300-350 ¥/ Gar
43
Answer the following long answer type questions

with word limit 300-350. 8x5=40

. Trefafed gt | sRaged A ifsg fe S
HHR H1YT 8.52 §—

[ 5] P.T. O.
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9 (%) 4 6 ? 10 12 14
ESEUNGY 5 10 12 15 6 2

Find out unknown value in the following series, if the

arthmetic mean of the series 1s 8.52 :

Wages in (%) 4 6 2 10 12 14

Labour (%) 5 10 12 15 6 2

Al

Or

7 wHehi § | dgeTsh i AT Hl—
HETHT 15 25 35 45 55
g 5 10 15 10 5
Calculate mode from the following data :
Midvalue 15 25 35 45 55
Frequency 5 10 15 10 5

2. (a) =1 9Hai 9 fa==or [ones @t TOAT HifsTi—

et fuzdds @1 fasmar omes = 0.42
i \e = 86

Hiegent = 80
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From the data given below, calculate the

coefficient of variance.
Karl Pearson’s Coefficient of Skewness = 0.42
Arithmetic mean = 86

Median = 80

(b)

=1
Size

f

fasman Tune A1d Sifee, afe 1 aqeel o 7
3R = §; T IqARI 1 AN = 22, AR =
10.5 =1

Find the co-efficient of Skewness, if : Difference
between two quartiles = 8; Sum of the two
quartiles = 22, Median = 10.5.

3Agdr
Or

ot ¥ go 9 g g A sifae—
0-10 10-20 20-30 30-40 40-50

44 60 36 44 18

Find out first and Third quartile from the following

series :

Size

/

0-10 10-20 20-30 3040 40-50

44 60 36 44 18

[ 7] P.T. O.
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. Trafafea gae =1 d 3R fafy grr ge-gvery

Tk 1A ShifIT |

X 75 88 95 70 60 80 81 50
Y 120 134 150 115 110 140 142 100

Calculate the coefficient of correlation from the

following data by the method of rank differences.
X 75 8 95 70 60 80 81 50
Y 120 134 150 115 110 140 142 100

3gar
Or
frfafed THel &1 e ¥ YAdTHA TRl i
UM hifsTa—
X 3 6 9 12 15
Y 3 12 27 48 75

Calculate Regression Co-efficients from the following

data :
X 3 6 9 12 15
Y 3 12 27 48 75

. Ueh FId-9uit § 3yAfa Al s 1 fafy= faf=

T AU HIT | 3 O FT & 2
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Describe the different methods for determining trend in a
time series. what are their relative merits & demerits ?

AYAT
Or

fr=afafed @ 2010 T AT S AER o6 AHRL
2015 o foau e 9 wifst—

g 3 ARS W A dg] HiHe
Price (2010) 10 20 5 2 7
Prices(2015) 16 21 6 3 14

Calculate Index number for 2015 on the basis of the

prices for 2010 from the following :

Items Bricks Timber Plaster board Sand Cement
Price (2010) 10 20 5 2 7
Prices(2015) 16 21 6 3 14

. SAEHI I YagHH 1 =1 379 § 7 AT JAiHA
o Hedqul fagri o |iga faa=m wifsa
What is meant by business forecasting ? Discuss

briefly the important theories of business forecasting.

AYAT
Or

Th 9 H 3 9 4 Hiell AR 5 A Tig g1 A
Tig fo ad fhd T & 9% T Agfess e

[ 9] P.T. O.
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S €1 WfaeRd 9@ wifse fR geell Whe, gEd
el 3R G o TiE 7

A bag contains 3 while, 4 black and 5 red balls. Three
balls are drawn at random one after another without
replacement. Find he probability that the first is white,

second black and third one is red ball.

00000dOoOO0000
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